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H lAIOKIHTlA 1,2,3,4. 27,28.1. QNAI APTIA KAI OIKOAOMHTIMH 
BNAI EE AnOJTAEH 950 METTON APO eAAAHA 
TA 4E OPIA EAQXeHTAN. EE EMENA ATIO TOTE lUOKTHTEE 

0 MHXANIK 

EMBAAO OIKOnEAOT 

IHMEIO 1 X = 7 0 7 0 4 2 . 0 2 Y = 3 8 9 5 0 9 7 . 9 5 Z = 0,00 
IHMEIO 2 X = 7 0 7 3 5 4 . 0 2 Y= 389521 5.20 Z = 0.00 
IHMEIO 3 X = 7 0 7 5 8 8 . 9 5 Y = 3 8 9 5 2 1 4 . 5 2 Z = 0.00 
IHMEIO 4 X = 7 0 7 9 8 3 . 0 4 Y = 3 8 9 5 1 5 7 , 7 3 Z = 0.00 
IHMEIO 5 X = 7 0 7 9 8 3 , 0 0 Y = 3 8 9 5 1 4 2 . 0 0 Z = 0.00 
IHMEIO 6 X = 7 0 7 9 4 9 , 0 0 Y= 3895129 .00 Z= 0.00 
IHMEIO 7 X = 7 0 7 8 9 1 . 0 0 Y= 3895103 .00 Z = 0.00 
IHMEIO 8 X = 7 0 7 8 4 9 . 0 0 Y = 3 8 9 5 0 7 5 . 0 0 z= 0.00 
IHMEIO 9 X = 7 0 7 7 3 9 , 0 0 Y = 3 8 9 5 0 3 5 . 0 0 z= 0.00 
IHMEIO 10 X = 7 0 7 7 3 5 . 0 0 Y= 389501 3.00 z= 0.00 
IHMEIO 11 X = 7 0 7 7 2 6 . 0 0 Y = 3 8 9 4 9 8 9 . 0 0 z= 0.00 
IHMEIO 12 X = 7 0 7 7 1 0 . 0 0 Y = 3 8 9 4 9 5 6 . 0 0 z= 0.00 
IHMEIO 13 X = 707652 .16 Y = 3 8 9 4 8 8 2 , 1 3 z= 0,00 
IHMEIO 15 X = 7 0 7 4 6 5 , 4 7 Y = 3 8 9 4 9 1 7 . 8 6 z= 0.00 
IHMEIO 16 X = 7 0 7 4 6 4 , 3 2 Y=3895131 . 05 z= 0.00 
IHMEIO 17 X = 7 0 7 4 1 3 , 0 0 Y = 3 8 9 5 1 3 5 . 0 0 z= 0.00 
IHMEIO 18 X = 7 0 7 3 6 9 . 0 0 Y= 3895131 .00 z= 0,00 
IHMEIO 19 X = 7 0 7 3 4 4 , 0 0 Y = 3 8 9 5 1 2 0 . 0 0 z= 0,00 
IHMEIO 20 X = 7 0 7 3 0 2 , 0 0 Y = 3 8 9 5 0 9 7 , 0 0 z= o.ot 
IHMEIO 21 X = 7 0 7 2 5 6 , 0 0 Y = 3 8 9 5 0 6 2 . 0 0 z= o.oc 
IHMEIO 22 X = 7 0 7 2 3 1 . 0 0 Y = 3 8 9 5 0 4 3 . 0 0 z= o.oc 
IHMEIO 23 X = 7 0 7 2 1 9 , 0 0 Y = 3 8 9 5 0 3 7 . 0 0 z= o.oc 
IHMEIO 24 X = 707198 .00 Y= 3 8 9 5 0 1 7 . 0 0 z= 0,00 
IHMEIO 25 X = 707173 , 00 Y= 3 8 9 5 0 0 2 , 0 0 z= o.oc 
IHMEIO 26 X = 7 0 7 1 5 6 . 0 0 Y = 3 8 9 4 9 8 0 , 0 0 z= o.oc 
IHMEIO 27 X = 707145 . 00 Y= 3 8 9 4 9 5 6 . 0 0 z= o.oc 
IHMEIO 28 X = 7 0 7 0 9 7 . 0 0 Y = 3 8 9 4 9 8 2 . 0 0 z= 0.0( 
IHMEIO 1 X = 7 0 7 0 4 1 . 9 8 Y = 3 8 9 5 0 9 8 . 0 5 z= 0.00 


